(08/11/13) wef ASS_REC. BY:	REF: CS/CTI	24110314/Ruh3	3482
	,	<u>ASSIGNMENT</u>	
From:	Date:	Veh No: SME 3039P	Yr Regn: 2021 Sun
Estimated Cost:	•	Type M.Car / M.Cycle / Bus / Van	
OD ITP I WS ITP RES I O	D RES / EVA / INV / MV	Truck / Trailer or	
To Inspect Vehicle No:		Make: 7420A CX 782-5	tlegance as 2488
at Workshop m/s		Colour GREY	A/C: Insured / Std / NI / NA
of		Sp.Reading 47475	T/Radio: Insured / Std / NI / NA
Insured:		Eng/No:	
Policy No.	•	CINO: SMBKGZWI	Am 305.
Claims No.		Gen. Cond: Good / Fair Poor / Bu	urnt
Sum Insured:	Excess:	Steering: Inorder Jammed / Leak	red / Burnt or

Brake:

Modi: Tyre Size:

Front

R/Bal.

L/Bal.

D.O.A.

Survey held at

Days Of Repair:

Resurvey No. of Trip:

Site Insp

Interview (\$

Tech. Invs (\$

Weekend (\$

TOYO INOKO

norder / Jammed / Leaked / Burnt or

BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /

Des. of Damages: Frt / Rear / O/S / N/S / U/C / Rooftop or

REGAR O/S

The U/C / Chassis frame / Body Structure affected due to collision.

Rear

R/Bal

L/Bal.

D.O.I.

Survey Fee: Transportation

S+RS

Press

0

TOTAL

NIL SIRM I STD AFTER OF

Excess:

Consistent?: Yes or No

Consistent?: Yes or No

Res.: Yes or No

3 Val.: Yes or No

N/S

Vehicle: IN / OUT

Add Fee:

O/S

Sum Insured:

Make of Veh:

(Client's Record)

(Policy Condition)

Bal. or Market Value:

IDAC Accident Rport:

GIA / PR Seen:

Est. Repairs:

Lum Sum:

Date:

Date / Time

Report Format:

Lump Sum / LB L: (5

Remark: The veh had commenced its

CA / REV / REP. / 24 HRS

repair at the time of inspection.

days

Person Contacted:

REPARLIMIT- LOOK

Prell. Report

Final Report

Action / Instruction

mm

mm



CODF: **CUSTOMER:** C0006

CHINA TAIPING (SINGAPORE) PTE LT

ADDRESS:

3 ANSON ROAD

#16-00 SPRINGLEAF TOWER

SINGAPORE 079909

PAGE NO .: **DOCUMENT NO.: DOCUMENT DATE:**

2887

12/11/2024

POS ID:12 PRINTED BY:

Lee Yao Sheng

SERVICE ADV: CSP/OP CODE: Lee Yao Sheng

CONTACT NO.: 6389 6111

MODEL:

CX8 2.5 AT ELEGANCE 7 SEATER

CHASSIS NO.:

JM6KG2WLA00100305

ENGINE NO.: REG NO.: REGN DATE:

PY31244342 SME3039P

08/06/2021

WIP NO .: REF. NO .:

DEPT:

17354 DS/SME3039P/2048

DATE IN:

EXT. WTY:

MILEAGE:

0

DESCRIPTION: Body repair

	N. Body Tepan	Stk/Status	Gross GST
Item	Description	Qty. Unit Price	amount Code
		SGD	SGD
NOTES	SME3039P -TP Claim -China Taiping -DOA:11.11.24		0,00 O 2,376.00 S
SUB	TO REMOVE & REPLACE REAR BUMPER & TAIL	(58	2,376.00 S
	GATE.		
	AND ALL ACCIDENT AFFECTED AREA.	•	60 200/00 6
SUB	TO RESPRAY REAR BUMPER, TAILGATE &	27	68-3,024.00 S 80-330.00 S
	CENTER FINISHER.	,	1200h c
SUB	TO TRANSFER REVERSE SENSORS.	(
SUB	TO REMOVE & REFIT THE WINDSCREEN		670.00 S
	GLASS AND CONDUCT WATER LEAK TEST.		120.00
SUB	TO SUPPLY SEALER ON THE		120.00
	WINDSCREEN GLASS.	2	60 70200 C
SUB	TO TRANSFER TAILGATE MECHANISM.	*	792.00 S
SUB	TO REMOVE & INSTALL REAR		792.00 S
	EXHAUST ASSY.		
SUB	TO CARRY OUT BODY CAVITY		258.00 s 30 258.00 s
300	PRESERVATION.	(
SUB	TO CHECK ELECTRICAL SYSTEM	,	17) 258.00 S
	FOR PROPER FUNCTIONING.	T T	. 10



Corporate Head Office: Trans Eurokars Pte Ltd,11 Kung Chong Road Singapore 159147
Tel: 6363 3003, Fax: 63693003, BRN: 199103859N. GST Regn. No.: M90364005A

^{&#}x27;This is only an estimate from our visual inspection and should there be more damages found during the process of works you will then be informed for your approval before proceeding with the repairs.

^{&#}x27;Take note that should you decide not to proceed with the repairs "a service quotation fee" with a minimum of \$180.00 will be applied and it will varies depending on the time unit that was taken for the checking and diagnosis of your vehicle.



CODE: CUSTOMER: C0006

CHINA TAIPING (SINGAPORE) PTE LT

CX8 2.5 AT ELEGANCE 7 SEATER

ADDRESS:

3 ANSON ROAD

#16-00 SPRINGLEAF TOWER

SINGAPORE 079909

PAGE NO .: DOCUMENT NO .: **DOCUMENT DATE:** 2 2887

12/11/2024

12

Lee Yao Sheng

PRINTED BY:

SERVICE ADV:

Lee Yao Sheng

CSP/OP CODE:

POS ID:

17354

DEPT:

WIP NO .: REF. NO .:

DS/SME3039P/2048

CHASSIS NO.: JM6KG2WLA00100305 **ENGINE NO.:**

MODEL:

CONTACT NO.: 6389 6111

PY31244342

REG NO .: **REGN DATE:**

SME3039P 08/06/2021 DATE IN: EXT. WTY:

MILEAGE:

0

DESCRIPTION: Body renair

DESCRIPTION:	Body repair			Stk/Status	Gross	GST
Item	Description	Qty.	Unit Price	•	amount C	
			SGD		SGD	
SUB	TO REPROGRAMME AFTER THE				250300.00	S
	ACCIDENT REPAIR WORKS.				20 -	_
SUB	SUNDRIES.			STOCK	50.00	S
K230-50-221DI	BIBUMPER REAR KO TOM	1.00	1,242.88	STOCK	1,242.88	S
B45A-56-146A	FASTENER NL	14.00	2.36	STOCK	33.04	S
BHN1-50-0Z1A	GROMMET,SCREW /	4.00	2.36	STOCK	9.44	S
B33J-51-833	RIVET, SPLASH SHIELD M	4.00	6.49	STOCK	25.96	S
G001-67-061	PAD, PROTECTOR N	7.00	7.08	'NO STOCK	(49.56	S
BGV4-56-145	CLIP M /	10.00		STOCK	23.60	S
K131-50-2H1A	RETAINER RHR BUMPER KG	1.00	30.52	STOCK	30.52	S
K131-51-5L0A	REFLECTOR RHR KG 500/	1.00	473.52	STOCK	473.52	S
DFR5-50-251	BRACKET, BUMPER SKYACTIV	1.00	4.64	STOCK	4.64	S
K131-50-260	REINF REAR BUMPER KG 7.	1.00	600.54	STOCK	600.54	S
K131-50-360	GUARD RHR BUMPER KG 7.	1.00	40.71	STOCK	40.71	S
KD47-67-UC5A	CRETAINER KF C.	1.00	15.77	STOCK	15.77	S
KD47-67-UC1	2'SENSOR, ULTRASONIC X	1.00	184.59	STOCK	184.59	S
G001-67-061	PAD, PROTECTOR A	7.00	7.08	STOCK	49.56	S
K3Y1-62-02XA	BODY LIFT GATE KG 61	1.00	1,640.63	STOCK	1,640.63	S
GHP9-58-867	VALVE, ONEWAY /	2.00	12.06	STOCK	24.12	S
D24H-62-866	COVER, HOLE RR LID S/ACTIV	1.00	2.36	STOCK	2.36	



TRANSELECKIES Corporate Head Office: Trans Eurokars Pte Ltd, 11 Kung Chong Road Singapore 159147 Tel: 6363 3003, Fax: 63693003, BRN.199103859N, GST Regn. No.: M90364005A

The is only an estimate from our visual inspection and should there be more damages found during one process of works you will then be informed for your approval before proceeding with the repairs.

Take note that should you decide not to proceed with the repairs 'a service quotation fee' with a of \$180.00 will be applied and it will varies depending on the time unit that was taken for the checking and diagnosis of your vehicle



CODE:

C0006

CHASSIS NO.: JM6KG2WLA00100305

PY31244342

08/06/2021

SME3039P

CUSTOMER:

MODEL:

REG NO.:

ENGINE NO.:

REGN DATE:

CHINA TAIPING (SINGAPORE) PTE LT

ADDRESS: 3 ANSON ROAD

#16-00 SPRINGLEAF TOWER

CX8 2.5 AT ELEGANCE 7 SEATER

SINGAPORE 079909

PAGE NO .:

2887 DOCUMENT NO .:

12/11/2024 **DOCUMENT DATE:** 12 POS ID:

PRINTED BY:

SERVICE ADV:

Lee Yao Sheng CSP/OP CODE:

DEPT:

WIP NO .: 17354

REF. NO .: DATE IN:

DS/SME3039P/2048

Lee Yao Sheng

0

EXT. WTY: MILEAGE:

DESCRIPTION: Body repair

CONTACT NO.: 6389 6111

Item	Description	Qty.	Unit Price	Stk/Status	Gross amount C	
			SGD	STOCK	SGD	Louc
D204-50-896A		4.00	2.36	STOCK	9.44	S
C001-50-897	SPACER W/	2.00	3.97	STOCK	7.94	S
GJ6A-50-897	SPACER M	3.00	11.13	STOCK	33.39	S
G21E-63-938B	PIN,STUD ~	1.00	10.20	STOCK	10.20	S
C513-50-896	FASTENER W	4.00	7.42	STOCK	29.68	S
K132-50-850B	PFFINISHER, REAR KG &	1.00	1,642.06	STOCK	1,642.06	S
BHY1-51-0A6A	CLIP M	4.00	10.20	STOCK	40.80	S
B01A-51-958	CLIP, SPOILER A	3.00	2.95	STOCK	8.85	S
KB8A-51-SJ3	CLIP pr /	2.00	5.57	STOCK	11.14	S
KB8A-51-W24/	A FASTENER ALL	6.00	3.71	STOCK	22.26	S
EG21-51-146	FASTENER A	3.00	5.57	STOCK	16.71	S
BF67-51-261	GROMMET	2.00	1.86	STOCK	3.72	S
GB02-67-014	CLIPM	1.00	3.38	STOCK	3.38	S
KD53-51-0B6B		2.00	2.36	STOCK	4.72	S
KDY3-51-0A6C		2.00	10.20	STOCK	20.40	S
K339-51-720	ORNAMENT RR CX-8 V	1.00	49.56	STOCK	49.56	S
TK78-51-731A	MASCOT, REAR TC/KG ► /	1.00	93.39	STOCK	93.39	S
K341-51-771	ORNAMENT SKYACTIV G.KG ~	1.00	59.43	STOCK	59.43	S
PY2W-40-100C	SILENCER MAIN KG POLIDA	1.00	1,871.74	STOCK	1,871.74	S
PE23-40-305	GASKET EXHAUST KH	1.00	27.23	SIOCK	27.23	S



TRANSELECTORS Comparate Head College: I sent barrows file tid 11 kung Chong Road Singapore 159147 THE 6363 3003, FOR 63693003 BEY 199103859N COT BORN NO MIGUS64005A



ame & Service Centres 5 Uto Clase Singulative 406-605

23 king see Road Singspore 15 90% \$ 100 Case 6.255 \$666 Service for 6.365 \$800 \$616 \$6603.6118 \$6000.010 13.0003 Sales for \$500 1700 Service fax 6744 9402 Sales fax 6475 7073 Service fax 6475 7417

This is any an estimate from our visual inspection and should there be more damages found during the process of works you will then be informed for your approval before proceeding with the repairs.

with a minum of \$180.00 will be applied and it will vanes depending on the time unit that was taken for the checking and diagnosis of your vehicle



CODE:

MODEL:

C0006

CUSTOMER: ADDRESS:

CHINA TAIPING (SINGAPORE) PTE LT

3 ANSON ROAD

#16-00 SPRINGLEAF TOWER

CX8 2.5 AT ELEGANCE 7 SEATER

SINGAPORE 079909

JM6KG2WLA00100305

PAGE NO .:

2887

DOCUMENT NO .: **DOCUMENT DATE:**

12/11/2024

POS ID:

PRINTED BY:

12 Lee Yao Sheng

SERVICE ADV:

CSP/OP CODE:

Lee Yao Sheng

DEPT:

17354

WIP NO .: REF. NO .:

DS/SME3039P/2048

DATE IN:

EXT. WTY:

MILEAGE:

0

DESCRIPTION: Body repair

CHASSIS NO .:

ENGINE NO.:

REGN DATE:

REG NO .:

CONTACT NO.: 6389 6111

PY31244342

08/06/2021

SME3039P

Stk/Status Gross GST **Qty. Unit Price** Item Description amount Code SGD SGD STOCK 1,409.26 S 1.00 1,409.26 PY8B-20-55X CAT CONVERTER KG **STOCK** 27.23 S 1.00 27.23 GASKET EXHAUST KH PE23-40-305

> LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- · Parts prices are subject to confirmation
- . Third party survey is on a "Without Prejudice" basis
- · No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

Rasul	
Hp 90010068	
6 days	
22/11/24	
Res Sø polit	

	•	GST Code	Rate	Service/Goods	GST
Parts	9,853.97	0	-		-
Surcharge	0.00		9.00%	18,807.97	1,692.72
Labour	8,954.00				
Menus	0.00				
*This is only and	estimate from ou vorks vou will the	r visual inspection	n and sho	uld there be more dama proval belore proceedin	ges found during

the process of works you will dien be illionised to your approve processing with an	c repons.
"Take note that should you decide not to proceed with the repairs "a service quotation fee"	
minimum of \$180.00 will be applied and it will varies depending on the time unit that was t	aken for

	Before GS1	GSI	Total
Gross . –	18,807.97	1,692.72	20,500,69
Less: Deposit**	0.00	0.00	0.00
Amount Due	18,807.97	1,692.72	20,500.69

the checking and diagnosis of your vehicle

"Deposit tax invoice No.:

CASH / NETS / AMEX / VISA / MASTER / CHEQUE No.

Date:

Customer signature

Authorised signature

TRANSEUROKARS Corporate Head Office: Trans Eurokars Pte Ltd, 11 Kung Chong Road Singapore 159147 Tel: 6363 3003, Fax: 63693003, BRN.199103859N, GST Regn. No. M90364005A

Showrooms & Service Centres : ZOOM-ZOOM

5 Upi Close Singapore 408605 Sales Tel: 6395 8888 Service Tel: 6395 8899

23 Leng Kee Road Singapore 159095 Sales Tel: 6603 6118 Service Tel: 6603 6128 Sales Fax: 66461700 Service Fax: 6744 9402 Sales Fax: 6476 7073 Service Fax: 6476 7417

SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

1. Please report correctly the details of the accident to speed up the claims process.

- 2. This Form must be completed by the Policyholder and/or the Actual Driver 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.

6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this separate will be and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of First Submission Reported by Date of Accident Exact Location of Accident Additional Location Information Country/State of Loss

11/11/2024 13:08 (SGT) Both Policyholder and Actual Driver 09/11/2024 11:00 (SGT) Singapore THE ENCLAVE CONDO CAR PARK 131 HOLLAND ROAD

DETAILS OF OWN VEHICLE

Vehicle Registration Number

SME3039P

Singapore

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner NRIC No **Email Address** Mobile Phone No

No TAN THUAN LENG, SHERMAN SXXXX348Z SHERMAN_TAN@HOTMAIL.COM

(Phone) +65-97885821

Alternative Phone No

Mazda

CX-8

VEHICLE PARTICULARS

Manufacturer Model Variant Exact purpose for which vehicle was being used at time of

accident

Are you claiming under your own insurance policy for repair to your vehicle?

Vehicle Category Transmission

CC Vehicle Fuel First Regisration Date

Chassis no Effective Date/Time of Ownership No - Claiming third party

Private car Auto 2488

PANCE COMPANY

Name of Insurance Company Policy Number / Cover Note Number

AIG Asia Pacific Insurance Pte. Ltd. 7210054903-02



Name of Driver
NRIC No
Date Of Birth
Occupation
Driving Pass Date
Driving License Pass Class
Driving License Validity
Driving experience
Gender
Mobile Number
Alt. Phone Number
Email Address

Gender
Mobile Number
Alt. Phone Number
Email Address
Address
Address complement

Address complement
Postcode
Is the driver the policyholder?

If No, Relationship of the Driver with the Insured Does Driver Own Other Vehicles?

Vehicle Registration Number of Other Vehicle Owned by Driver

Insurance Company of Other Vehicle Owned by Driver

TAN THUAN LENG, SHERMAN

SXXXX348Z 22/04/1988 Indoor 25/06/2007

3 Valid

17 YEARS AND 5 MONTHS

Male

(Phone) +65-97885821

SHERMAN_TAN@HOTMAIL.COM

BLK 131 HOLLAND ROAD #03-02 SINGAPORE

-278569 Yes

No

-

GENERAL INFORMATION OF THE ACCIDENT

Type of Accident Weather Conditions Road Surface

Hit and run / Vandalism / Damaged whilst parked

Clear Dry

OTHER INFORMATION

Was any foreign vehicle involved in the accident? No Number of vehicles involved in the accident 2 Was anybody injured in the Accident? No Was any injured conveyed to hospital by ambulance? Was any other vehicle or property damaged? Yes Number of Passengers (Including Driver) 0 Has the driver been approached by unknown person(s) soliciting/offering accident claims assistance? No Translator's name Translator's ID Translator's phone number Translator's email Original language used in the statement

DETAILS OF POLICE ACTION

Was the accident reported to the police?

Was notice of intended Prosecution given?

No
If yes, against whom?

CIRCUMSTANCES OF ACCIDENT

REFER TO THE SKETCH PLAN

ATTACHMENT(S)

Are accident photos available for attachment? Was there any video captured by Car Camera?

Yes No

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number Vehicle Manufacturer

GBG1643C



A radia	
vehicle Model	
Jehicle Variant	•
Vehicle Colour	
Vehicle Category	<u>=</u>
Name of Driver	Commercial vehicle
Contact Number	-
Address	•
Address complement	•
Postcode	•
Insurance Company Name	-
Nature Of Damage	•
Details of property damaged in accident	
No. Of Passenger (Including Driver)	-

SKETCH PLAN

IMPORTANT NOTICE

- 1. Rease report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver
- 3. Information provided must be as truthful and accurate as possible. Any will imprepresentation or withholding of material facts may allow insurance companies to repudiate policy liability
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy fiability on the part of the insurance companies
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association
- of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the ladgement of this report to the insurers, you hareby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 6. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that :

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the insurers law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of :
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to me clams:
- (a) investigating the accident ancier my claims;
- (s) carrying out and/or dealing with my instructions or responding to any enquiries by me;
- (w) administering my claims (including the making of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.

(colectively the Purposes)

- (b) all insurer(s) wino have insured vehicle(s) involved in this accident and the insurers law yers/law firms, may/are permitted to collect, ase, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their law yers law firms), which may be sited outside of Singapore, for one or more of the above Purposes.

5 Signature / Date & Poi Cytroide

Driver's Signature (If driver is not the policyholder) / Date

Witnessed by F

Personnel

& Time

Sketch Plan

Enclare Conde (B Corpork)

Describe Circumstances of the Accident	
I porked my Cal. In thy coupor Corpork at	
At around 14:30 pm in the afternoon I come and noticed that my car was hit in the rear on my wind screen to notify me that he is son and to contact him at 97337525.	back to the cor There was a note sy that he hit my
T contacted the person, and after some him he told me to claim his insulance fo	convocation with
Declaration	
foregoing particulars are true in every respect.	
X SIM 10-51 Diver's Signature (if driver is not the policyholder) / Date	Redy.
& Time	Witnessed by Popping Clyttre

Mazda CX-8 2.5A Luxury 7-Seater

\$165,000 Instalment \$1,474/mth



m.sgcarmart.com

Shortlist









Overview

Financial Photo Research

Depreciation

(i) \$22,360 / year

28-Jun-2021

Reg. Date

(6yrs 7mths 3days COE left)

Manufactured

(i) 2021 34,880 km (10.2k / year)

Mileage Transmission Auto

Engine Cap

2.488 cc (i) \$1,786 / year

Road Tax Power

143.0 kW (191 bhp) View specs of the Mazda CX-8 (2020-2024)

① 1,808 kg

Curb Weight COF

\$63,002 \$30,830

OMV ARF

(i) \$35,162

(i) 2

Dereg Value

No. of Owners

(i) \$67,901 as of today

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID:	348Z
Vehicle Details	
/ehicle No.:	SME3039P
/ehicle to be Exported:	No
ntended Deregistration Date:	24 Nov 2024
/ehicle Make:	MAZDA
/ehicle Model:	CX-8 2.5 AT ELEGANCE 7 SEATER
Primary Colour:	Grey
Nanufacturing Year:	2021
ingine No.:	PY31244342
Chassis No.:	JM6KG2WLA00100305
Maximum Power Output:	143.0 kW (191 bhp)
Open Market Value:	\$30,089.00
Original Registration Date:	08 Jun 2021
irst Registration Date:	08 Jun 2021
Fransfer Count:	0
Actual ARF Paid:	\$34,125.00
ntended PARF Rebate Details	
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	07 Jun 2031
PARF Rebate Amount:	\$25,593.00
ntended COE Rebate Details	
COE Expiry Date:	07 Jun 2031
COE Category:	E - Open - all except motorcycle
COE Period(Years):	10
QP Paid:	\$63,002.00
COE Rebate Amount:	\$39,230.00
otal Rebate Amount: Message	\$64,823.00
	current COE (including unused COE from any lay-up period/s), if you renew your CO

The information contained herein is correct as at 24 Nov 2024